Task 7 Mr.P and Mr.S (4 points)
The organizer of a quizz selected from an urn 2 natural numbers x and y from the domain {2,3,4, ..,14}. He did not inform anyone about these numbers but he provided a hint to Mr. S by saying him the value of their sum, ie. x+y and a different hint to Mr.P who obtained info about their product, ie. x*y. 
Both men P and S started to reason:
1. Mr. P said „I do not know the consi dered numbers x,y.“
2. Mr. S answered „I knew, you do not know.“   
3. Mr. P continued „Now, I know both numbers“  
· Verify if selection of numbers 3 and 6 would result in this dialog.

· Suggest the next sentence of Mr.S. 
Provide your solutions via the upload system by 23.5.2016 9:00 am! 
